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; GEOMETRY

A traming field is designed by joining a peis Ly Sl e o Adlaie sl &
rectangle and two semicircles MMJ*HIFP’J"E-
mmctaruiﬂtﬂmbmand?ﬁm TEm A sy 100m s celiiadd gl
(Use the value 3 14 for 1 and round P Al el SR T= 3,14 pan)
your answer 10 the nearest hundredths (e =
place)

100 m

What is the length of a raining track i il Akl g dd) gle e
o Pyt
running around the field? e
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em— s

A semicircle is cut out of a rectangular Sl ALkl 4B 5 g e § il i Ll a3
paperboard 22 cm long and 15 cm 15 it 0 9 2 22 Ll sha s abadl 354l e
- ,

(Use the value 3 14 for m and round

your answer 1o the nearest hundredth) o0 o Bl dide} Pyt S.14 pc)

(e =

15cm

S

22 cm

What is the penmeter of the paperboard
that remains after the semicircle i1s
removed?

el A Al Uyl e
() om e s S
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it j308 Paplelll AL M sishs What is the length of AC? TAC alall Jyle sale
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ACIDE, AD=24, D8 =12, DE=4

A
D
c E B
A
12
B.
. 8
c
16
D.
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GEOMETRY

A ADE s the image of [, ABC after a dbad dni P\ ABC il 5 s 38 A ADE
ditation of scale tactor & centerod af the Jual sl e f S
angin
Which statement b5 Rdilameifitin 4
atways rue?
L
B C
D E
AD 1 DE
BCIDE
AC=(CE

2AE=AD
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Which rotation about its center will map a ,E:L.hil_,.'.p R
regular decagon onto itself? Heds o S i e ol e g
ek o s

252°

162°

108°
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A thombus has di with lengths -

: e
Wuﬂ:lﬂnmhufasde ol § o) 2al Jyke sala

A
17

15V2

16y2

34
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Which of the following figures is not a lalons ol 42N S o g
polygon?
Circle N s sl
Rhombus s
Tnangle .;.I,.I!.
Hemga; & ¢ Al el
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The two tnangie below are simdar dedits Jod B

vﬂ‘mwdpﬂw P 1?
TRIRATES SCHOOLE ESTARLIGHMINT \\ - Q

Which rabo represents sin (H)7? !m{H}‘_:.’:Jj!'#a_iél

e
F

s
|

|

e
e

Sle




fniares senoons fmcmssr  The solid below is made from cubes. ChSa e 3555 ) punld

A A .'_1._’1

Fing its surface area

"l—|-.-|—l"
1 centimeter

Answer E eme s
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Use the figure below 10 answer the question A Dad e el L BID i
gttt 308 slell) AL o il Mt olows
FRORATES SCHOOLE ESTARLISHMINT — gy e
10 mm .
r
——
12 mm
——
Which function below can be used to find the G A das¥ Ldoatd Ky b Laa 30 g
volume of the difference between the inner fla ol Ul asl paa sl 5 0l saa
and outer cylinder?

vir)=120m- 12nr*

vir)= 12nr*

Vviri= 12n( 100 = r¥)

vir)= 12n{10-=r)




GEOMETRY

A storage tank is in the shape of a cylinder gl A5 A e pa il gl K2 e A
GANATES SCHOOLS S5TABLISMNT with a hemisphere on the top The highest 13 Jald oe D i it Lo pla ) s ol

point on the inside of the storage tank is 13 PR

meters above the floor of the storage tank. el S ;t?i

and the diameter inside the cylinder is 8 g

R

13m

- - - =
-

Gaseeayears

Bm |

Yhat is the total volume inside the slorage m3 5 3. Lid XKD 4ss) W
ank. to the nearest cubic meter? St J&vﬁh‘::h




GEOMETRY

- The figure below conlains two semicircles u_;.-ah_p,h#_,.m_x..nh_p
B < (ol LD that are tangent to each other at point B and E ol ds gl s DE slalliy B 4aid e
ray DE is tangent to both semicircles at Fs
ponts E and F

M
.
A 8 C

< D

if PB = BC = 6, what does line segment ED i didabill da'ws PB=BC=6 5\
equal? *ED
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A building has a height of 6.5 melers and a
base that is made up of a rectangle and two sl Aain e iuadl Sanll _ale g
tnangles. The base of the building 1s shown

below

em— s

S o 8 juo 4y 5ia 6.5 40l e

10 m

6m

-HI-I-T--H--

4m

10m

LI - ...qu Ls
nearest cubic meter? C] - Sasu Bl el pos
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A swimming pool can be modeled by a ki Ut (K5 ke dalic o ge atieald o
cylinger. The pool has a diameter 6.5 meters
and a depth of 1 meter. The pool is filled i
> Ad e — Ja cldbasldl
3 of its depth. 3

Saya capl el ey 5065 p Lol

with water to

what is the volume of water in the pool to D |"|"|3
the nearest cubic meter?
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?ﬂjmwdpﬂw

FRORATES SCHOOLE ESTARLISHMINT — gy e
A solid object was sliced to form two new K e tene 5358 Claas pusne pdad 3
objects. Each of the two new objects had a Vil Claaaddd e gl 2 M sac e Logia
circular base. Which shape could not have Chadl mad 580 o A
been the original object?
| cylinder Lyl
'~ sphere oy
' N b
{ pyramid s A

' cone by e
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GEOMETRY

in he diagram below, right riangle G JETICH SURTERE T P
:ﬂchuhwlmhmwunlﬂ 6 34 anla Jss ABC
What is the volume of the three- g a0 D el pinn gl
dimensional object formed by TIE&-JJFJM»-J' T
continuously rotating the right triangle
about AE7?
C
4
—
A 6 =]
2N
487
S6m

144m

em— s
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Formulas

GEOMETRY

Perimeter (P) and Circumference (C):

P=s,4+5;,+5;:+ 5,

Perimeter of a triangle P=s +5,+5,
Perimeter of Trapezoid F-h(b‘: by)
Circumference of a circle C =2nr
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Formulas

GEOMETRY

Area (A):

[ Joome |
Area of square A= gt
Area of a rectangle A=lesw
Area of a circle A=nmr?
Area of a triangle A-%
Area of a parallelogram A= bh
Area of trapezoid A=23h
Area of a thombus A=
Area of Ellipse A=,
Area of Cube A = 6s*
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Volume (V):
Formulas

Volume of a cube V=35

Volume of a rectangular prism V = lwh

Volume of a right cylinder V=nr'h

Volume of a sphere I-"::—:lr’

Volume of a cone r-.ﬂ;

Volume of a rectangular F=hrh

pyramid '3
. bhi

Volume of a triangular prism r-...z...
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Formulas

Surface area (SA): .

Surface area of rectangular prism SA = 2(wl + hl + hw)

Surface area of a cube SA = 6s°
Surface area of cylinder SA = 2arh + 2mr?
Surface area of a sphere SA = 4mr?

Surface area of cone SA = grs
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Formulas

Umnits Conversion:

GEOMETRY

1cm =10 mm
1m=100cm
1 m= 1000 mm
1 km = 1000 m
1ft=12in
lyard=3 ft

1 mile = 5280 ft
lin=254cm
lyd=0914m

1 km = 0.621 miles

| 1g = 1000 mg

1 kg=1000¢g

1 mg = 1000 ug
1lb=160z
1kg=2201b
454g=10b
1ton=907.2kg

imL=1cm’

1dL =100 mL
1L=10dL

1L = 1000 mL
1 pint = 2 cups
1qt =4 cups

1 gallon =4 qts
" 946mL=1qt
1L=1.06qt

K="C+273.15
"C=(F-32)x5/9
1cal=4.184)

1 psi = 0.068 atm

1 atm = 101.325 kPa
1 atm = 760 mmHg
1 atm = 1.01325 bar

1 mmHg = 1 torr

em— s
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Formulas
SoLD VOoLUME OTHER
Right circularcone V= %:rr: h L=cl "= volume L = lateral areca
; r = radius ¢ = circumference of base
h = height [ = slant height
Sphere V= ;:rr’ S=4nr V= volume
r = radius

S = surface area

V = %Bﬁ } = volume
2 B = area of base
h = height
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